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The Feynman
Problem-Solving
Algorithm

1. write down the problem
2. think very hard
3. write down the answer.
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Layered Architecture

Port & Adapter Pattern

Modular Monolith
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Pattern

Strangler Fig Application
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Tree

FIG 2.

Strangler Branch
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“The most important reason to consider a
strangler fig application over a cut-over
iS )

Martin Fowler, StranglerFigApplication






Object Oriented

Eventual Consistency

Event Driven Architecture
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Event Driven Architecture
& Event Consistency
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“An event can be defined as
In state”

Wikipedia, Event-driven architecture, K. Mani Chandy Event-driven Applications, California Institute of Technology, 2006
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“subscribers express interest In one or more classes and
only receive messages that are of interest,
, If any, there are.”

Wikipedia, Publish-subscribe pattern
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Client
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Client V1
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Second(ary) First(Primary)
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The Feynman
Problem-Solving
Algorithm

1. write down the problem
2. think very hard
3. write down the answer.

4. repeal... repeat... repeat...
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